



*Gen. Math. Notes, Vol. 35, No. 1, July 2016, pp.19-35*  
*ISSN 2219-7184; Copyright ©ICSRS Publication, 2016*  
*www.i-csrs.org*  
*Available free online at <http://www.geman.in>*

# Some Applications of Fractional Calculus Operators to a Certain Subclass of Analytic Functions Defined by Integral Operator Involving Generalized Hypergeometric Function

Hazha Zirar

Department of Mathematics, College of Science  
University of Salahaddin, Erbil, Kurdistan, Iraq  
E-mail: [hazhazirar@yahoo.com](mailto:hazhazirar@yahoo.com)

(Received: 2-3-16 / Accepted: 28-6-16)

## Abstract

*The purpose of the present paper is to prove various distortion theorems for the fractional calculus of functions in the class  $M_{\lambda}^{\zeta, \eta}[(\alpha_j, A_j)_{1, q}; (\mu_j, \rho_j)_{1, m}; (\beta_j, B_j)_{m+1, p}]$  consisting of analytic and univalent functions with negative coefficients defined by integral operator involving generalized hypergeometric function. Furthermore, a distortion theorem for a fractional integral operator of functions in the class  $M_{\lambda}^{\zeta, \eta}[(\alpha_j, A_j)_{1, q}; (\mu_j, \rho_j)_{1, m}; (\beta_j, B_j)_{m+1, p}]$  is shown.*

**Keywords:** *Analytic, Univalent, Fractional calculus, Hypergeometric function, Mittag-Leffler function, Noor integral operator.*

## 1 Introduction

Let  $H$  be the class of functions analytic in  $\mathcal{U} = \{z \in \mathbb{C} : |z| < 1\}$  and  $S$  be the subclass of  $H$  consisting of functions of the form

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k. \quad (1)$$

For complex parameters

$$\alpha_1, \dots, \alpha_q \left( \frac{\alpha_j}{A_j} \neq 0, -1, -2, \dots; j = 1, \dots, q \right),$$

and

$$\beta_1, \dots, \beta_p \left( \frac{\beta_j}{B_j} \neq 0, -1, -2, \dots; j = 1, \dots, p \right),$$

the Fox-Wright generalization  ${}_q\Psi_p[z]$  of the hypergeometric  ${}_qF_p$  function is defined by [4, 16, 13]

$$\begin{aligned} {}_q\Psi_p \left[ \begin{matrix} (\alpha_1, A_1), \dots, (\alpha_q, A_q); \\ (\beta_1, B_1), \dots, (\beta_p, B_p); \end{matrix} z \right] &= {}_q\Psi_p[\alpha_j, A_j]_{1,q}; (\beta_j, B_j)_{1,p}; z] \\ &= \sum_{k=0}^{\infty} \frac{\Gamma(\alpha_1 + kA_1) \dots \Gamma(\alpha_q + kA_q) z^k}{\Gamma(\beta_1 + kB_1) \dots \Gamma(\beta_p + kB_p) k!} \\ &= \sum_{k=0}^{\infty} \frac{\prod_{j=1}^q \Gamma(\alpha_j + kA_j) z^k}{\prod_{j=1}^p \Gamma(\beta_j + kB_j) k!}, \end{aligned}$$

where  $A_j > 0$  for all  $j = 1, \dots, q$ ,  $B_j > 0$  for all  $j = 1, \dots, p$  and  $1 + \sum_{j=1}^p B_j - \sum_{j=1}^q A_j \geq 0$  for suitable values  $|z|$ . For special case, when  $A_j = 1$  for all  $j = 1, \dots, q$ , and  $B_j = 1$  for all  $j = 1, \dots, p$  we have the following relationship

$$\begin{aligned} {}_qF_p(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_p; z) &= \sum_{k=0}^{\infty} \frac{(\alpha_1)_k \dots (\alpha_q)_k z^k}{(\beta_1)_k \dots (\beta_p)_k k!} \\ &= \Omega_p \Psi_p[\alpha_j, 1]_{1,q}; (\beta_j, 1)_{1,p}; z], \\ q &\leq p + 1; q, p \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}, z \in \mathcal{U}, \end{aligned}$$

where

$$\Omega = \frac{\Gamma(\beta_1) \dots \Gamma(\beta_p)}{\Gamma(\alpha_1) \Gamma(\alpha_q)},$$

and  $(a)_k$  is the Pochhammer symbol defined by

$$(a)_k = \frac{\Gamma(a+k)}{\Gamma(a)} = \begin{cases} 1, & k = 0 \\ a(a+1)(a+2) \dots (a+k-1), & k \in \mathbb{N}. \end{cases}$$

For special cases of  ${}_q\Psi_p$  are the entire functions

$${}_1\Psi_1(z) = \sum_{k=0}^{\infty} \frac{\Gamma(1 + Ak) z^k}{\Gamma(1 + Bk) k!}, B \geq A \geq 0,$$

that when  $A = 1$  and  $B = \lambda$ , reduces to the classical Mittag- Leffler function (see [1])

$$E_\lambda(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\lambda k + 1)}, \lambda > 0.$$

Another special case of  ${}_q\Psi_p$  is the function

$${}_2\Psi_1(z) = \sum_{k=0}^{\infty} \frac{\Gamma(1 + Ak)\Gamma(1 + \alpha k)z^k}{\Gamma(1 + \beta + Bk)k!}, A, B, \alpha, \beta > 0, B \geq A + \alpha,$$

that when  $A = 0, \alpha = 1, B = \lambda$  and  $\beta = \delta - 1$  becomes the generalized Mittag-Leffler function

$$E_{\lambda, \delta}(z) = \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\lambda k + \delta)}, \lambda, \delta > 0.$$

The Mittag-Leffler function plays an important role in analysis and fractional calculus (see [3, 6, 12]). Some other work related to Fox-Wright and hypergeometric functions can be seen in [18] and [19] for different purposes.

In [7], Kiryakova, introduced the so-called multi-index Mittag-Leffler function as follows.

For  $m > 1$  (integers)  $\rho_1, \dots, \rho_m > 0$  and  $\mu_1, \dots, \mu_m$  (real numbers)

$$\begin{aligned} E_{(1/\rho_i), (\mu_i)}(z) &= \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\mu_1 + \frac{k}{\rho_1})\Gamma(\mu_m + \frac{k}{\rho_m})} \\ &= {}_1\Psi_m(z) \left[ \begin{matrix} (1, 1); \\ ((\mu_i + \frac{1}{\rho_i})_1^m; z \end{matrix} \right] \\ &= H_{1, m+1}^{1, 1} \left[ \begin{matrix} (0, 1); \\ -z | \\ (0, 1), (1 - \mu_i, \frac{1}{\rho_i})_1^m; \end{matrix} \right]. \end{aligned}$$

Putting  $(\beta_m, B_m) = (\mu_m, \frac{1}{\rho_m}), m < p$ , we have the generalized Wright function

$${}_q\Phi_p = \sum_{k=0}^{\infty} \frac{\prod_{j=1}^q \Gamma(\alpha_j + kA_j)z^k}{\prod_{j=1}^m \Gamma(\mu_j + \frac{1}{\rho_j}) \prod_{j=m+1}^p \Gamma(\beta_j + kB_j)k!}. \quad (2)$$

Note that when  $m = 1$  in equation (2),  ${}_q\Phi_p(z)$  reduces to the generalized Wright function due to Mainardi and Pagnini [8]. We introduce a function  $(z_q\Phi_p(z))^{-1}$  given by

$$[z_q\Phi_p(z)] * [z_q\Phi_p(z)]^{-1} = \frac{z}{(1 - z)^{\lambda+1}}$$

$$= z + \sum_{k=2}^{\infty} \frac{(\lambda + 1)_{k-1}}{(k-1)!} z^k, (\lambda > -1)$$

and obtain the following operator:

$$I_{\lambda}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z) = [z_q \Phi_p(z)]^{-1} * f(z),$$

where  $f \in A, z \in \mathcal{U}$  and

$$[z_q \Phi_p(z)]^{-1} = z + \sum_{k=2}^{\infty} \frac{\prod_{j=1}^m \Gamma(\mu_j + (k-1)\frac{1}{\rho_j}) \prod_{j=m+1}^p \Gamma(\beta_j + (k-1)B_j)}{\prod_{j=1}^q \Gamma(\alpha_j + (k-1)A_j)} (\lambda+1)_{k-1} z^k.$$

A computation gives

$$\begin{aligned} & I_{\lambda}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z) = \tag{3} \\ & = z + \sum_{k=2}^{\infty} \frac{\prod_{j=1}^m \Gamma(\mu_j + (k-1)\frac{1}{\rho_j}) \prod_{j=m+1}^p \Gamma(\beta_j + (k-1)B_j)}{\prod_{j=1}^q \Gamma(\alpha_j + (k-1)A_j)} (\lambda+1)_{k-1} a_k z^k, \end{aligned}$$

where

$$\frac{\prod_{j=1}^m \Gamma(\mu_j) \prod_{j=m+1}^p \Gamma(\beta_j)}{\prod_{j=1}^q \Gamma(\alpha_j)} = 1.$$

From (3) we have the following result.

**Lemma 1.1** *Let  $f(z) \in S$ . Then*

1.  $I_0[(1, 1)_{1,1}; (0, k-1)_{1,m}; (1, \frac{1}{k-1})_{m+1,p}]f(z) = f(z)$ .
2.  $I_1[(1, 1)_{1,1}; (0, k-1)_{1,m}; (1, \frac{1}{k-1})_{m+1,p}]f(z) = zf'(z)$ .
3.  $z[I_{\lambda}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)]' =$   
 $(\lambda+1)I_{\lambda+1}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)$   
 $- \lambda I_{\lambda}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)$ .

Operator (3) reduces to the one defined and studied by the authors [5] when  $(\mu_j, \frac{1}{\rho_j})_{1,m} = (\beta_j, B_j)_{1,m}$  which is also a generalization of Noor integral operator [9].

In the following definition, we introduce new classes of analytic functions containing generalized integral operator (3):

**Definition 1.2** *Let  $f(z) \in S$ , then  $f(z) \in S_{\lambda}^{\zeta, \eta}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]$  if and only if*

$$\Re \left\{ \frac{\frac{[I_{\lambda}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)]'}{I_{\lambda}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)}}{\zeta \frac{[I_{\lambda}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)]'}{I_{\lambda}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)} + (1-\zeta)} \right\} > \eta, \tag{5}$$

for some  $\eta(0 \leq \eta < 1), \xi(0 \leq \xi < 1)$  and for all  $z \in \mathcal{U}$ .

Let  $T$  denote the subclass of  $S$  consisting of all functions of the form

$$f(z) = z - \sum_{k=2}^{\infty} a_k z^k \quad (a_k \geq 0). \quad (6)$$

Furthermore, we define the class

$$M_{\lambda}^{\zeta, \eta}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}] = S_{\lambda}^{\zeta, \eta}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}] \cap T.$$

We note that, by specializing the parameters  $\lambda, \xi$  and  $\eta$  we obtain the following subclasses studied by various authors:

1.  $M_0^{\zeta, \eta}[(1, 1)_{1,1}; (0, k-1)_{1,m}; (1, \frac{1}{k-1})_{m+1,p}] = T(\xi, \eta)$   
 $M_1^{\zeta, \eta}[(1, 1)_{1,1}; (0, k-1)_{1,m}; (1, \frac{1}{k-1})_{m+1,p}] = C(\xi, \eta)$  (Altintas and Owa [2]);
2.  $M_0^{0, \eta}[(1, 1)_{1,1}; (0, k-1)_{1,m}; (1, \frac{1}{k-1})_{m+1,p}] = T^*(\eta)$  and  
 $M_1^{0, \eta}[(1, 1)_{1,1}; (0, k-1)_{1,m}; (1, \frac{1}{k-1})_{m+1,p}] = C(\eta)$  (Silverman [13])

## 2 Coefficient Estimates

**Theorem 2.1** *Let the function  $f(z)$  defined by (6). Then  $f(z) \in M_{\lambda}^{\zeta, \eta}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]$  if and only if*

$$\sum_{k=2}^{\infty} H_{k-1} [((\lambda+1)_k - (\lambda)_k) - \eta(\lambda+1)_{k-1} [1 + \zeta(k-1)]] a_k \leq 1 - \eta, \quad (7)$$

where

$$H_{k-1} = \frac{\prod_{j=1}^m \Gamma(\mu_j + (k-1)\frac{1}{\rho_j}) \prod_{j=m+1}^p \Gamma(\beta_j + (k-1)B_j)}{\prod_{j=1}^q \Gamma(\alpha_j + (k-1)A_j)}. \quad (8)$$

**Proof:** Assume that the inequality (7) holds and let  $|z| = 1$ . Then we have

$$\begin{aligned} & \left| \frac{\frac{[I_{\lambda}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)]'}{I_{\lambda}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)}}{\zeta \frac{[I_{\lambda}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)]'}{I_{\lambda}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)}} + (1 - \zeta)} - 1 \right| = \\ & \left| \frac{\sum_{k=2}^{\infty} (1 - \zeta) H_{k-1} (1 - k) ((\lambda+1)_k - (\lambda)_k) a_k z^{k-1}}{1 - \sum_{k=2}^{\infty} H_{k-1} [1 + \zeta(k-1)] (\lambda+1)_{k-1} a_k z^{k-1}} \right| \\ & \leq \frac{\sum_{k=2}^{\infty} (1 - \zeta) H_{k-1} (1 - k) ((\lambda+1)_k - (\lambda)_k) a_k}{1 - \sum_{k=2}^{\infty} H_{k-1} [1 + \zeta(k-1)] (\lambda+1)_{k-1} a_k} \\ & \leq 1 - \eta. \end{aligned}$$

This shows that the value of  $\frac{I_\lambda[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)'}{I_\lambda[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)}$  lies in a circle centered at  $w = 1$  whose radius is  $1 - \eta$ . Hence  $f(z)$  satisfies the condition (5).

Conversely, assume that the function  $f(z)$  defined by (6) is in the class  $M_\lambda^{\zeta, \eta}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]$ . Then

$$\Re \left\{ \frac{I_\lambda[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)'}{I_\lambda[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)} \right\} \\ \geq \zeta \frac{I_\lambda[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)'}{I_\lambda[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)} + (1 - \zeta) \\ \Re \left\{ \frac{1 - \sum_{k=2}^{\infty} H_{k-1}((\lambda + 1)_k - (\lambda)_k)a_k z^{k-1}}{1 - \sum_{k=2}^{\infty} H_{k-1}[1 + \zeta(k-1)](\lambda + 1)_{k-1}a_k z^{k-1}} \right\}, \quad (9)$$

for  $z \in \mathcal{U}$ .

Choose values of  $z$  on the real axis so that  $\frac{I_\lambda[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)'}{I_\lambda[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)}$  is real.

Upon clearing the denominator in (9) and letting  $z \rightarrow 1^-$  through real values, we obtain

$$1 - \sum_{k=2}^{\infty} H_{k-1}((\lambda + 1)_k - (\lambda)_k)a_k \geq \eta \left\{ 1 - \sum_{k=2}^{\infty} H_{k-1}[1 + \zeta(k-1)](\lambda + 1)_{k-1}a_k \right\},$$

which gives (7). Hence the proof is complete.

**Corollary 2.2** *Let the function  $f(z)$  defined by (6) be in the class  $M_\lambda^{\zeta, \eta}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]$ . Then*

$$a_k \leq \frac{1 - \eta}{H_{k-1}[(\lambda + 1)_k - (\lambda)_k] - \eta(\lambda + 1)_{k-1}[1 + \zeta(k-1)]}, \quad k \geq 2$$

where  $H_{k-1}$  is defined in (8).

The result is sharp with the extremal function  $f(z)$  given by

$$f(z) = z - \frac{1 - \eta}{H_{k-1}[(\lambda + 1)_k - (\lambda)_k] - \eta(\lambda + 1)_{k-1}[1 + \zeta(k-1)]} z^k \quad (k \geq 2).$$

### 3 Some Properties of the Class

$$M_\lambda^{\zeta, \eta}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]$$

**Theorem 3.1** *Let  $0 \leq \eta < 1, 0 \leq \zeta_1 \leq \zeta_2$ . Then*

$$M_\lambda^{\zeta_1, \eta}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}] \subseteq M_\lambda^{\zeta_2, \eta}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}].$$

**Proof:** It follows from Theorem 2.1 that

$$\sum_{k=2}^{\infty} H_{k-1} [((\lambda+1)_k - (\lambda)_k) - \eta(\lambda+1)_{k-1} [1 + \zeta_2(k-1)]] a_k \leq$$

$$\sum_{k=2}^{\infty} H_{k-1} [((\lambda+1)_k - (\lambda)_k) - \eta(\lambda+1)_{k-1} [1 + \zeta_1(k-1)]] a_k \leq 1 - \eta,$$

for  $f(z) \in M_{\lambda}^{\zeta_1, \eta} [(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]$ .

Hence  $f(z) \in M_{\lambda}^{\zeta_2, \eta} [(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]$ .

**Theorem 3.2** *Let  $0 \leq \eta < 1, 0 \leq \zeta_1 < 1$ . Then*

$$M_{\lambda+1}^{\zeta_1, \eta} [(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}] \subset M_{\lambda}^{\zeta_2, \eta} [(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}].$$

*The proof follows immediately from Theorem 2.1.*

## 4 Distortion Theorem

**Theorem 4.1** *Let the function  $f(z)$  defined by (6) be in the class  $M_{\lambda+1}^{\zeta, \eta} [(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]$ . Then*

$$|f(z)| \geq |z| - \frac{1 - \eta}{H_1 [((\lambda+1)_2 - (\lambda)_2) - \eta(\lambda+1)_1(1 + \zeta)]} |z|^2 \quad (10)$$

$$|f(z)| \leq |z| + \frac{1 - \eta}{H_1 [((\lambda+1)_2 - (\lambda)_2) - \eta(\lambda+1)_1(1 + \zeta)]} |z|^2. \quad (11)$$

for  $z \in \mathcal{U}$  where  $H_{k-1}$  is defined in (8). Then equalities in (10) and (11) are attained for the function  $f(z)$  given by

$$f(z) = z - \frac{1 - \eta}{H_1 [((\lambda+1)_2 - (\lambda)_2) - \eta(\lambda+1)_1(1 + \zeta)]} z^2. \quad (12)$$

**Proof:** Let  $f(z) \in M_{\lambda+1}^{\zeta, \eta} [(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]$ . Then in view of Theorem 2.1, we have

$$H_1 [((\lambda+1)_2 - (\lambda)_2) - \eta(\lambda+1)_1 [1 + \zeta]] \sum_{k=2}^{\infty} a_k \leq$$

$$\sum_{k=2}^{\infty} H_{k-1} [((\lambda+1)_k - (\lambda)_k) - \eta(\lambda+1)_{k-1} [1 + \zeta(k-1)]] a_k \leq 1 - \eta.$$

This yields

$$\sum_{k=2}^{\infty} a_k \leq \frac{1 - \eta}{H_1[((\lambda + 1)_2 - (\lambda)_2) - \eta(\lambda + 1)_1[1 + \zeta]]}.$$

Now

$$\begin{aligned} |f(z)| &= \left| z - \sum_{k=2}^{\infty} a_k z^k \right| \\ &\geq |z| - |z|^2 \sum_{k=2}^{\infty} |a_k| \\ &\geq |z| - \frac{1 - \eta}{H_1[((\lambda + 1)_2 - (\lambda)_2) - \eta(\lambda + 1)_1[1 + \zeta]]} |z|^2. \end{aligned}$$

Also,

$$|f(z)| \leq |z| + \frac{1 - \eta}{H_1[((\lambda + 1)_2 - (\lambda)_2) - \eta(\lambda + 1)_1[1 + \zeta]]} |z|^2.$$

Hence the proof is complete.

**Corollary 4.2** *Under the hypothesis of Theorem 4.1,  $f(z)$  is included in a disk with center at the origin and radius  $r$  given by*

$$r = 1 + \frac{1 - \eta}{H_1[((\lambda + 1)_2 - (\lambda)_2) - \eta(\lambda + 1)_1[1 + \zeta]]}.$$

*The result is sharp with the extremal function  $f(z)$  given by (12).*

**Theorem 4.3** *Let the function  $f(z)$  defined by (6) be in the class  $M_{\lambda}^{\zeta, \eta}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]$ . Then we have*

$$|I_{\lambda}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)| \leq |z| + (1 - \eta)|z|^2 \quad (13)$$

$$|I_{\lambda}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)| \geq |z| + (1 - \eta)|z|^2, \quad (14)$$

*for  $z \in \mathcal{U}$  where  $H_{k-1}$  is defined in (8). Then equalities in (13) and (14) are attained for the function  $f(z)$  given by*

$$f(z) = z - (1 - \eta)z^2.$$

**Proof:** By using Theorem 2.1, one can verify that

$$\sum_{k=2}^{\infty} H_{k-1}(\lambda+1)_{k-1} a_k \leq \sum_{k=2}^{\infty} H_{k-1}[(\lambda+1)_k - (\lambda)_k - \eta(\lambda+1)_{k-1}[1 + \zeta(k-1)]] a_k \leq 1 - \eta,$$



that is, that

$$\sum_{k=2}^{\infty} H_{k-1}(\lambda + 1)_{k-1} a_k \leq 1 - \eta.$$

It follows that

$$\begin{aligned} |I_{\lambda}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)| &= |z - \sum_{k=2}^{\infty} a_k z^k| \\ &\leq |z| + |z|^2 \sum_{k=2}^{\infty} H_{k-1}(\lambda + 1)_{k-1} |a_k| \\ &\leq |z| + |z|^2 \sum_{k=2}^{\infty} H_{k-1}(\lambda + 1)_{k-1} |a_k| \\ &\leq |z| + (1 - \eta)|z|^2. \end{aligned}$$

The other assertion can be proved as follows:

$$\begin{aligned} |I_{\lambda}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]f(z)| &= |z - \sum_{k=2}^{\infty} a_k z^k| \\ &\geq |z| - |z|^2 \sum_{k=2}^{\infty} H_{k-1}(\lambda + 1)_{k-1} |a_k| \\ &\geq |z| - |z|^2 \sum_{k=2}^{\infty} H_{k-1}(\lambda + 1)_{k-1} |a_k| \\ &\geq |z| - (1 - \eta)|z|^2. \end{aligned}$$

This completes the proof of Theorem 4.2.

## 5 Fractional Calculus

We begin with the statements of the following definitions of fractional calculus (that is, fractional derivatives and fractional integrals) which were defined by Owa ([10], [11]) and were used recently by Srivastava and Owa [14] and many researchers.

**Definition 5.1** *The fractional integral of order  $\delta$  is defined, for a function  $f(z)$ , by*

$$D_z^{-\delta} f(z) = \frac{1}{\Gamma(\delta)} \int_0^z \frac{f(\xi)}{(z - \xi)^{1-\delta}} d\xi (\delta > 0),$$

where  $f(z)$  is analytic function in a simply connected region of the  $z$ -plane containing the origin, and the multiplicity of  $(z - \xi)^{1-\delta}$  is removed by requiring  $\log(z - \xi)$  to be real when  $z - \xi > 0$ .

**Definition 5.2** The fractional derivative of order  $\delta$  is defined, for a function  $f(z)$ , by

$$D_z^\delta f(z) = \frac{1}{\Gamma(1-\delta)} \frac{d}{dz} \int_0^z \frac{f(\xi)}{(z-\xi)^{1-\delta}} d\xi \quad (0 \leq \delta < 1),$$

where  $f(z)$  is constrained, and the multiplicity of  $(z-\xi)^{-\delta}$  is removed as in Definition 5.1.

**Definition 5.3** Under the hypothesis of Definition 5.2, the fractional derivative of order  $n+1$  is defined by

$$D_z^{n+\delta} f(z) = \frac{d^n}{dz^n} D_z^\delta f(z) \quad (0 \leq \delta < 1; n \in \mathbb{N}_0).$$

**Theorem 5.4** Let the function  $f(z)$  defined by (6) be in the class  $M_\lambda^{\zeta, \eta}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]$ . Then we have

$$|D_z^{-\delta} f(z)| \geq \frac{|z|^{1+\delta}}{\Gamma(2+\delta)} \left\{ 1 - \frac{2(1-\eta)}{(2+\delta)H_1[(\lambda+1)_2 - (\lambda)_2] - \eta(\lambda+1)_1[1+\zeta]} |z| \right\},$$

and

$$|D_z^{-\delta} f(z)| \leq \frac{|z|^{1+\delta}}{\Gamma(2+\delta)} \left\{ 1 + \frac{2(1-\eta)}{(2+\delta)H_1[(\lambda+1)_2 - (\lambda)_2] - \eta(\lambda+1)_1[1+\zeta]} |z| \right\}$$

for  $\delta > 0$  and  $z \in \mathcal{U}$ . The result is sharp.

**Proof:** Let

$$\begin{aligned} F(z) &= \Gamma(2+\delta) z^{-\delta} D_z^{-\delta} f(z) \\ f(z) &= z - \sum_{k=2}^{\infty} \frac{\Gamma(k+1)\Gamma(2+\delta)}{\Gamma(k+1+\delta)} a_k z^k \\ f(z) &= z - \sum_{k=2}^{\infty} \Psi_1(k, \delta) a_k z^k, \end{aligned}$$

where

$$\Psi_1(k, \delta) = \frac{\Gamma(k+1)\Gamma(2+\delta)}{\Gamma(k+1+\delta)} \quad (k \geq 2).$$

Since

$$0 < \Psi_1(k, \delta) \leq \Psi_2(2, \delta) = \frac{2}{2+\delta}. \quad (15).$$

In view of Theorem 2.1, we have

$$H_1[(\lambda+1)_2 - (\lambda)_2] - \eta(\lambda+1)_1[1+\zeta] \sum_{k=2}^{\infty} a_k \leq$$

$$\sum_{k=2}^{\infty} H_{k-1} [((\lambda+1)_k - (\lambda)_k) - \eta(\lambda+1)_{k-1}(1 + \zeta(k-1))] a_k \leq 1 - \eta,$$

which evidently yields

$$\sum_{k=2}^{\infty} a_k \leq \frac{1 - \eta}{H_1 [((\lambda+1)_2 - (\lambda)_2) - \eta(\lambda+1)_1 [1 + \zeta]]}. \quad (16)$$

Therefore, by using (15) and (16), we can see that

$$\begin{aligned} |F(z)| &\geq |z| - |z|^2 \Psi_1(2, \delta) \sum_{k=2}^{\infty} |a_k| \\ &\geq |z| - \frac{2(1 - \eta)}{(2 + \delta) H_1 [((\lambda+1)_2 - (\lambda)_2) - \eta(\lambda+1)_1 [1 + \zeta]]} |z|^2, \end{aligned}$$

and

$$\begin{aligned} |F(z)| &\leq |z| + |z|^2 \Psi_1(2, \delta) \sum_{k=2}^{\infty} |a_k| \\ |F(z)| &\leq |z| + \frac{2(1 - \eta)}{(2 + \delta) H_1 [((\lambda+1)_2 - (\lambda)_2) - \eta(\lambda+1)_1 [1 + \zeta]]} |z|^2, \end{aligned}$$

which prove the inequalities of Theorem 5.1. Further, equalities are attained for the function  $f(z)$  defined by

$$D_z^{-\delta} f(z) = \frac{z^{1+\delta}}{\Gamma(2+\delta)} \left\{ 1 - \frac{2(1 - \eta)}{(2 + \delta) H_1 [((\lambda+1)_2 - (\lambda)_2) - \eta(\lambda+1)_1 (1 + \zeta)]} |z| \right\},$$

or

$$f(z) = z - \frac{1 - \eta}{H_1 [((\lambda+1)_2 - (\lambda)_2) - \eta(\lambda+1)_1 (1 + \zeta)]} z^2 \quad (17).$$

Hence the proof is complete.

**Corollary 5.5** *Under the hypothesis of Theorem 5.1,  $D_z^{-\delta} f(z)$  is included in a disk with center at the origin and radius  $r_1$  given by*

$$r_1 = \frac{1}{\Gamma(2+\delta)} \left\{ 1 + \frac{2(1 - \eta)}{(2 + \delta) H_1 [((\lambda+1)_2 - (\lambda)_2) - \eta(\lambda+1)_1 (1 + \zeta)]} \right\},$$

**Theorem 5.6** *Let the function  $f(z)$  defined by (6) be in the class  $M_{\lambda}^{\zeta, \eta} [(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]$ . Then we have*

$$|D_z^{\delta} f(z)| \geq \frac{|z|^{1-\delta}}{\Gamma(2-\delta)} \left\{ 1 - \frac{2(1 - \eta)}{(2 - \delta) H_1 [((\lambda+1)_2 - (\lambda)_2) - \eta(\lambda+1)_1 (1 + \zeta)]} |z| \right\}$$

$$|D_z^{\delta} f(z)| \leq \frac{|z|^{1-\delta}}{\Gamma(2-\delta)} \left\{ 1 + \frac{2(1 - \eta)}{(2 - \delta) H_1 [((\lambda+1)_2 - (\lambda)_2) - \eta(\lambda+1)_1 (1 + \zeta)]} |z| \right\}$$

for  $0 \leq \delta < 0$  and  $z \in \mathcal{U}$ . The result is sharp .

**Proof:** Let

$$\begin{aligned} G(z) &= \Gamma(2 - \delta)z^\delta D_z^\delta f(z) \\ f(z) &= z - \sum_{k=2}^{\infty} \frac{\Gamma(k+1)\Gamma(2-\delta)}{\Gamma(k+1-\delta)} a_k z^k \\ f(z) &= z - \sum_{k=2}^{\infty} \Phi_1(k, \delta) a_k z^k, \end{aligned}$$

where

$$\Phi_1(k, \delta) = \frac{\Gamma(k+1)\Gamma(2-\delta)}{\Gamma(k+1-\delta)} (k \geq 2).$$

Since

$$0 < \Phi_1(k, \delta) \leq \Phi_2(k, \delta) = \frac{2}{2-\delta}. \quad (18).$$

In view of Theorem 2.1, we have

$$\begin{aligned} &H_1[((\lambda+1)_2 - (\lambda)_2) - \eta(\lambda+1)_1[1+\zeta]] \sum_{k=2}^{\infty} a_k \leq \\ &\sum_{k=2}^{\infty} H_{k-1} [((\lambda+1)_k - (\lambda)_k) - \eta(\lambda+1)_{k-1}[1+\zeta(k-1)]] a_k \leq 1 - \eta, \end{aligned}$$

which evidently yields

$$\sum_{k=2}^{\infty} a_k \leq \frac{1 - \eta}{H_1[((\lambda+1)_2 - (\lambda)_2) - \eta(\lambda+1)_1[1+\zeta]]}. \quad (19)$$

Therefore, by using (18) and (19), we can see that

$$\begin{aligned} |G(z)| &\geq |z| - |z|^2 \Phi_1(2, \delta) \sum_{k=2}^{\infty} |a_k| \\ &\geq |z| - \frac{2(1-\eta)}{(2-\delta)H_1[((\lambda+1)_2 - (\lambda)_2) - \eta(\lambda+1)_1[1+\zeta]]} |z|^2, \end{aligned}$$

and

$$\begin{aligned} |G(z)| &\leq |z| + |z|^2 \Phi_1(2, \delta) \sum_{k=2}^{\infty} |a_k| \\ |G(z)| &\leq |z| + \frac{2(1-\eta)}{(2-\delta)H_1[((\lambda+1)_2 - (\lambda)_2) - \eta(\lambda+1)_1[1+\zeta]]} |z|^2, \end{aligned}$$

which prove the inequalities of Theorem 5.2. Further, equalities are attained for the function  $f(z)$  defined by

$$D_z^\delta f(z) = \frac{|z|^{1-\delta}}{\Gamma(2-\delta)} \left\{ 1 - \frac{2(1-\eta)}{(2-\delta)H_1[((\lambda+1)_2 - (\lambda)_2) - \eta(\lambda+1)_1(1+\zeta)]} |z| \right\},$$

that is, by (17).

We complete the assertion of Theorem 5.2.

**Corollary 5.7** *Under the hypothesis of Theorem 5.2,  $D_z^\delta f(z)$  is included in a disk with center at the origin and radius  $r_2$  given by*

$$r_2 = \frac{1}{\Gamma(2-\delta)} \left\{ 1 + \frac{2(1-\eta)}{(2-\delta)H_1[(\lambda+1)_2 - (\lambda)_2 - \eta(\lambda+1)_1(1+\zeta)]} \right\},$$

**Corollary 5.8** *For every  $f(z) \in M_\lambda^{\zeta, \eta}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]$ , we have*

$$\begin{aligned} & \frac{|z|^2}{2} \left[ 1 - \frac{2(1-\eta)}{3H_1[(\lambda+1)_2 - (\lambda)_2 - \eta(\lambda+1)_1(1+\zeta)]} |z| \right] \leq \\ & \left| \int_0^z f(t) dt \right| \leq \frac{|z|^2}{2} \left[ 1 + \frac{2(1-\eta)}{3H_1[(\lambda+1)_2 - (\lambda)_2 - \eta(\lambda+1)_1(1+\zeta)]} |z| \right], \end{aligned}$$

and

$$\begin{aligned} & |z| \left[ 1 - \frac{(1-\eta)}{3H_1[(\lambda+1)_2 - (\lambda)_2 - \eta(\lambda+1)_1(1+\zeta)]} |z| \right] \leq \\ & |f(t)| \leq |z| \left[ 1 + \frac{(1-\eta)}{3H_1[(\lambda+1)_2 - (\lambda)_2 - \eta(\lambda+1)_1(1+\zeta)]} |z| \right], \end{aligned}$$

**Proof:** By definition 5.1 and Theorem 5.1 for  $\delta = 1$ , we have  $D_z^{-1}f(z) = \int_0^z f(t)dt$ , the result is true. Also by Definition 5.2 and Theorem 5.2 for  $\delta = 0$ , we have

$$D_z^0 f(z) = \frac{d}{dz} \int_0^z f(t)dt = f(z).$$

Hence the proof is complete.

## 6 Fractional Integral Operator

We need the following definition of fractional integral operator given by Srivastava, Saigo and Owa [15].

**Definition 6.1** *For real numbers  $\beta_1 > 0, \gamma_1$  and  $\eta_1$ , the fractional integral operator  $I_{0,z}^{\beta_1, \gamma_1, \eta_1}$  is defined by*

$$I_{0,z}^{\beta_1, \gamma_1, \eta_1} f(z) = \frac{z^{-\beta_1 - \gamma_1}}{\Gamma(\beta_1)} \int_0^z (z-t)^{\beta_1 - 1} F(\beta_1 + \gamma_1, -\eta_1; \beta_1; 1 - \frac{t}{z}) f(t) dt,$$

where  $f(z)$  is an analytic function in a simply connected region of the  $z$ -plane containing the origin with the order

$$f(z) = O(|z|^\epsilon), z \rightarrow 0,$$

where  $\epsilon > \max(0, \gamma_1 - \eta_1) - 1$ , and

$$F(a, b, ; c; z) = \sum_{k=0}^{\infty} \frac{(a)_k (b)_k}{(c)_k (1)_k} z^k,$$

where  $(v)_k$  is the Pochhammer symbol defined by

$$(v)_k = \frac{\Gamma(v+k)}{\Gamma(v)} = \begin{cases} 1, & k = 0 \\ v(v+1)(v+2)\dots(v+k-1), & k \in \mathbb{N}, \end{cases}$$

the multiplicity of  $(z-t)^{\beta_1-1}$  is removed by requiring  $\log(z-t)$  to be real when  $z-t > 0$ .

**Remark 6.2** For  $\gamma_1 = -\beta_1$ , we note that

$$I_{0,z}^{\beta_1, \gamma_1, \eta_1} f(z) = D_z^{-\beta_1} f(z).$$

In order to prove our result for the fractional operator, we have to recall here the following Lemma due to Srivastava, Saigo and Owa [15].

**Lemma 6.3** If  $\beta_1 > 0$  and  $k > \gamma_1 - \eta_1 - 1$ , then

$$I_{0,z}^{\beta_1, \gamma_1, \eta_1} z^k = \frac{\Gamma(k+2)\Gamma(k-\gamma_1+\eta_1+1)}{\Gamma(k-\gamma_1+1)\Gamma(k+\beta_1+\eta_1+1)} z^{k-\gamma_1}.$$

With the aid of Lemma 6.1, we prove

**Theorem 6.4** Let  $\beta_1 < 0, \gamma_1 < 2, \beta_1 + \eta_1 > -2, \gamma_1 - \eta_1 < 2$  and  $\gamma_1(\beta_1 + \eta_1) \leq 3\beta_1$ . If the function  $f(z)$  defined by (6) is in the class  $M_{\lambda}^{\zeta, \eta}[(\alpha_j, A_j)_{1,q}; (\mu_j, \rho_j)_{1,m}; (\beta_j, B_j)_{m+1,p}]$ , then

$$|I_{0,z}^{\beta_1, \gamma_1, \eta_1} f(z)| \geq \frac{\Gamma(2 - \gamma_1 + \eta_1) |z|^{1-\gamma_1}}{\Gamma(2 - \gamma_1) \Gamma(2 + \beta_1 + \eta_1)}$$

$$\left\{ 1 - \frac{(1-\eta)(2-\gamma_1+\eta_1)}{H_1 [((\lambda+1)_2 - (\lambda)_2) - \eta(\lambda+1)_1(1+\zeta)] (2-\gamma_1)(2+\beta_1+\eta_1)} |z| \right\}, \quad (20)$$

$$|I_{0,z}^{\beta_1, \gamma_1, \eta_1} f(z)| \leq \frac{\Gamma(2 - \gamma_1 + \eta_1) |z|^{1-\gamma_1}}{\Gamma(2 - \gamma_1) \Gamma(2 + \beta_1 + \eta_1)}$$

$$\left\{ 1 + \frac{(1-\eta)(2-\gamma_1+\eta_1)}{H_1 [((\lambda+1)_2 - (\lambda)_2) - \eta(\lambda+1)_1(1+\zeta)] (2-\gamma_1)(2+\beta_1+\eta_1)} |z| \right\}, \quad (21)$$

for  $z \in \mathcal{U}_0$ , where

$$\mathcal{U}_0 = \begin{cases} \mathcal{U} & (\gamma_1 \leq 1) \\ \mathcal{U} - \{0\} & (\gamma_1 > 1). \end{cases}$$

The equalities in (20) and (21) are attained by the function  $f(z)$  given by (17).

**Proof:** By using Lemma 6.1, we have

$$I_{0,z}^{\beta_1, \gamma_1, \eta_1} f(z) = \frac{\Gamma(2 - \gamma_1 + \eta_1)}{\Gamma(2 - \gamma_1)\Gamma(2 + \beta_1 + \eta_1)} z^{1-\gamma_1} - \sum_{k=2}^{\infty} \frac{\Gamma(k+1)\Gamma(k - \gamma_1 + \eta_1 + 1)}{\Gamma(k - \gamma_1 + 1)\Gamma(k + \beta_1 + \eta_1 + 1)} a_k z^{k-\gamma_1}.$$

Letting

$$\begin{aligned} H(z) &= \frac{\Gamma(2 - \gamma_1)\Gamma(2 + \beta_1 + \eta_1)}{\Gamma(2 - \gamma_1 + \eta_1)} z^{\gamma_1} \\ &= z - \sum_{k=2}^{\infty} h(k) a_k z^k, \end{aligned}$$

where

$$h(k) = \frac{(2 - \gamma_1 + \eta_1)_{k-1} (1)_k}{(2 - \gamma_1)_{k-1} (2 + \beta_1 + \eta_1)_{k-1}} \quad (k \geq 2),$$

we can see that  $h(k)$  is non-increasing for integers  $k \geq 2$ , and we have

$$0 < h(k) \leq h(2) = \frac{2(2 - \gamma_1 + \eta_1)}{(2 - \gamma_1)(2 + \beta_1 + \eta_1)}. \quad (22)$$

Therefore, by using (16) and (22), we have

$$\begin{aligned} |H(z)| &\geq |z| - |z|^2 h(2) \sum_{k=2}^{\infty} a_k \\ &\geq |z| - \frac{2(1 - \eta)(2 - \gamma_1 + \eta_1)}{H_1[((\lambda + 1)_2 - (\lambda)_2) - \eta(\lambda + 1)_1[1 + \zeta]](2 - \gamma_1)(2 + \beta_1 + \eta_1)} |z|^2, \end{aligned}$$

and

$$\begin{aligned} |H(z)| &\leq |z| + |z|^2 h(2) \sum_{k=2}^{\infty} a_k \\ &\leq |z| + \frac{2(1 - \eta)(2 - \gamma_1 + \eta_1)}{(2 - \delta)H_1[((\lambda + 1)_2 - (\lambda)_2) - \eta(\lambda + 1)_1[1 + \zeta]](2 - \gamma_1)(2 + \beta_1 + \eta_1)} |z|^2. \end{aligned}$$

This completes the proof of Theorem 6.1.

## References

- [1] R.P. Agarwal, A propos d'une note de M. Pierre Humbert, *C.R. Acad. Sci. Paris*, 236(1953), 2031-2032.
- [2] O. Altıntaş and S. Owa, On subclasses of univalent functions with negative coefficients, *Pusan Kyongnam Math. J.*, 4(1988), 41-46.

- [3] M. Dzhrbashyan, Differential of fractional order and boundary value problem in the complex domain, *Oper. Th. Adv. Appl.*, 41(1989), 153-127.
- [4] C. Fox, The asymptotic expansion of generalized hypergeometric functions, *Proc. London Math. Soc. (Ser. 2)*, 27(1928), 389-400.
- [5] R.W. Ibrahim and M. Darus, New classes of analytic functions involving generalized Noor integral operator, *J. Ineq. Appl.*, Article ID 390435(2008), 14 pages.
- [6] A. Kilbas, M. Saigo and J. Teujillo, On the generalized Wright function, *Frac. Calc. Appl. Anal.*, 5(2002), 437-460.
- [7] V. Kiryakova, Multiple (multiindex) Mittag-Leffler function and relations to generalized fractional calculus, *Journal of Computational and Applied Mathematics*, 118(2000), 241-259.
- [8] F. Mainardi and G. Pagnini, The role of Fox-Wright functions in fractional sub-diffusion of distributed order, *Journal of Computational and Applied Mathematics*, 207(2007), 245-257.
- [9] K. Noor, Integral operators defined by convolution with hypergeometric functions, *Applied Mathematics and Computation*, 182(2006), 1872-1881.
- [10] S. Owa, On the distortion theorems-I, *Kyungpook Math. J.*, 18(1978), 53-59.
- [11] S. Owa, Some applications of fractional calculus, *Research Notes in Math.*, Pitman, Boston, London and Melbourne, 138(1985), 164-175.
- [12] A. Popor and A. Sedletski, Distribution of the zeros of the Mittag-Leffler function, *Dokl. Akad. Nauk*, 390(2003), 165-168.
- [13] H.M. Silverman, Univalent functions with negative coefficients, *Proc. Amer. Math. Soc.*, 51(1975), 109-116.
- [14] H.M. Srivastava and S. Owa, An application of the fractional derivative, *Math. Japon.*, 29(1984), 383-389.
- [15] H.M. Srivastava, M. Saigo and S. Owa, A Class of distortion theorems involving certain operators of fractional calculus, *J. Math. Anal. Appl.*, 131(1988), 412-420.
- [16] E.M. Wright, The asymptotic expansion of the generalized hypergeometric function, *J. London Math. Soc. (Ser 1)*, 10(1935), 286-293.



- [17] E.M. Wright, The asymptotic expansion of the generalized hypergeometric function, *J. London Math. Soc. (Ser 2)*, 46(1940), 389-408.
- [18] M. Darus and R.W. Ibrahim, On new Laguerre-type functions involving new deformed calculus, *Adv. Studies Theor. Phys.*, 3(9) (2009), 313-322.
- [19] M. Darus and R.W. Ibrahim, A note on generalized E-function and its applications, *Adv. Studies Theor. Phys.*, 3(11) (2009), 421-427.